

①

$$\lim_{x \rightarrow 0} \left[ \frac{4x^2 - \sin x}{x^3} \right] = \lim_{x \rightarrow 0} \left[ \frac{8x - \cos x}{3x^2} \right]$$
$$= \lim_{x \rightarrow 0} \left[ \frac{8 + \sin x}{6x} \right] = \lim_{x \rightarrow 0} \left[ \frac{\cos x}{6} \right]$$
$$= \lim_{x \rightarrow 0} \left[ \frac{\cos 0}{6} \right] = \frac{1}{6}$$

②

$$y = \frac{7x^2 \cos 8x}{e^{3x}}$$

$$u = 7x^2 \quad v = \cos 8x \quad w = e^{3x}$$
$$\frac{du}{dx} = 14x \quad \frac{dv}{dx} = -8 \sin 8x \quad \frac{dw}{dx} = 3e^{3x}$$

$$\frac{dy}{dx} = y \left[ \frac{1}{u} \cdot \frac{du}{dx} + \frac{1}{v} \cdot \frac{dv}{dx} - \frac{1}{w} \cdot \frac{dw}{dx} \right]$$

$$\frac{dy}{dx} = y \left[ \frac{1}{7x^2} \cdot 14x + \frac{1}{\cos 8x} \cdot -8 \sin 8x - \frac{1}{e^{3x}} \cdot 3e^{3x} \right]$$

$$\frac{dy}{dx} = y \left[ \frac{2}{x} - 8 \tan 8x - 3 \right]$$

$$\frac{dy}{dx} = \frac{7x^2 \cos 8x}{e^{3x}} \left[ \frac{2}{x} - 8 \tan 8x - 3 \right]$$

19/ENG05/010

$$3) \quad y = \cos 5x^2 + 6x$$

$$\text{let } u = 5x^2 + 6x$$

$$\frac{du}{dx} = 10x + 6$$

$$y = \cos u$$

$$\frac{dy}{du} = -\sin u$$

$$\frac{dy}{dx} = \frac{dy}{du} \times \frac{du}{dx}$$

$$\frac{dy}{dx} = -\sin u \times (10x + 6)$$

$$\frac{dy}{dx} = -(10x + 6) \sin u$$

$$\frac{dy}{dx} = -(10x + 6) \sin(5x^2 + 6x)$$

$$4) a) \int \frac{3 dx}{4x + 1}$$

$$\text{let } u = 4x + 1$$

$$du = 4 dx$$

$$dx = \frac{du}{4}$$

$$= \int \frac{3 \frac{du}{4}}{u}$$

$$= \frac{3}{4} \ln u$$

$$= \frac{3}{4} \ln(4x + 1)$$

19/EM405/010

$$b) \int \frac{dx}{x^2+49} = \int \frac{dx}{x^2+7^2}$$

$$\text{let } x = 7 \tan \theta; \theta = \tan^{-1} \frac{x}{7}$$

$$dx = 7 \sec^2 \theta d\theta$$

$$7^2 + x^2 = 7^2 + 7^2 \tan^2 \theta$$

$$= 7^2 (1 + \tan^2 \theta)$$

recall  $1 + \tan^2 \theta = \sec^2 \theta$  (tri-identity)

$$7^2 + x^2 = 7^2 \sec^2 \theta$$

$$\int \frac{7 \sec^2 \theta d\theta}{7^2 \sec^2 \theta} = \frac{1}{7} \int d\theta$$

$$= \frac{1}{7} [\theta] + C$$

$$\text{recall } \theta = \tan^{-1} \frac{x}{7}$$

$$= \frac{1}{7} \tan^{-1} \frac{x}{7} + C$$

$$e) \int (e^{6x} + 9x^4 - \sin 7x + \cos 8x) dx$$

$$= \left[ \frac{e^{6x}}{6} + \frac{9x^5}{5} + \frac{1}{7} \cos 7x + \frac{1}{8} \sin 8x \right] + C$$

$$= \frac{e^{6x}}{6} + \frac{9x^5}{5} + \frac{1}{7} \cos 7x + \frac{1}{8} \sin 8x + C$$

19/ENG05/010

$$d) \int x \sqrt{9+x^2} = \int x \sqrt{u} \cdot \frac{du}{2x}$$

$$\text{let } u = 9 + x^2$$

$$du = 2x dx$$

$$\frac{du}{2x} = dx$$

$$\therefore \int x \sqrt{9+x^2} = \int x \sqrt{u} \cdot \frac{du}{2x}$$

$$= \frac{1}{2} \int u^{1/2} du$$

$$= \frac{1}{2} \left[ \frac{2u^{3/2}}{3} \right] + C$$

$$= \frac{u^{3/2}}{3} + C$$

$$= \frac{1}{3} \sqrt{(9+x^2)^3} + C$$

BUS